November 2019 Grade 4 Memorandum

Consider Consistent Accuracy and accept any correct method

Question 1 Answer Mark Allocation Total
1.1 D 1 10
1.2 B 1
1.3 C 1
1.4 D 1
1.5 D 1
1.6 D 1
1.7 C 1
1.8 C 1
1.9 C 1
1.10 C 1

Question 2 Answer Mark Allocation Total
2.1 3 1 7

4
2.2 g etc 1
> 1
2.3a 7
23b = 1
8
3
24 324; 364; 314
Question 3 Mark Allocation Total (Consider CA) Total
3.1 6442+1394=7836 2 10
VvV
3.2 5348-2195=3153 2
VvV
33 66
X43
198 v 3
2640V
2838V
3.4 265 +5 =53 Vv 3




Question 4 Answer Mark Allocation Total
4.1 2L 1 4
4.2 2000ML 1
4.3 900ML 2
Question 5 Answer Mark Allocation Total
5.1 3
2
(1 mark for each
arm)
5.2 16:35 1
Question 6 Answer Mark Allocation Total
6.1 R971+R3281+R3919v= R8171V 2 6
6.2 592-178V =414V 2
6.3 8x6V =48V 2
Question 7 Answer Mark Allocation Total
7.1 C%g 2 marks 3
7.2 739 1 mark per
answer
Question 8 Answer Mark Allocation Total
8.1 40cm 2 4
8.2 16square units 2
Question 9 Answer Mark Allocation Total
9.1 Cylinder 1 5
9.2 E3 1




9.3 2
9.4 ! 1
’ 6 lines of symmetry
Question 10 Answer Mark Allocation Total
10.1 25-5=20 1 6
10.2 35+40=75 1
10.3 Blue Berry 1
10.4 Grapes 1
10.5 145 2
Question 11 Answer Mark Allocation Total
111 2 2

> OR5 out of 16
16




